REBXNFOEUE bigBOO6-(1)

116+ 3= 11543 =

2 8+ 5= 3 3+ 6=

39+ 1= /944 =

4119+ 5= 100 2 4+ 6=

5 44 2= 1 541=

6 14 7= 12243 =
RET; @ zn
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KEBYFORUE beBoos-2 | & A B ( )Time
143= 11+ 1=
21 3+ 5= sl 144 =
3947 = /043 =
41249 = 1006+ 4 =
5 94+ 3= 1 545=
6] 3+4= 2 146=
RET: Qi
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REBNFOEUE bigBOO6-(3)
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H14+1= 11+ 6=

2. 8+ 2= 31 8+ 2=

31+ 9= /943 =

4113+1= 10084+ 5H=

5 1+ 4= 111949 =

6/ 4+6= 1294 1=
RET: Qi



REBNFDREUE 2)|=» 1114+3= 4 17T+1= 8
PIEBDDS 213+5=8 [51+4=5

[ R ] 3194+7= 16 9 943= 12

= 1124+9=11 [106+4= 10

1 5 5/9+3= 12 [15+5= 10
I | 3+4=7 [121+6=7

1+1=2 1174+6= 13
8+2= 10 [8/8+2= 10
1+5=06 9/94+3= 12
3+1=4 [108+5= 13
44+2=6 [1/5+1=6 1+44=5 [1194+9= 18
1+47=8 [12243= 9 44+6= 10 [129+1= 10

116+3= 9 1154+3= 8
218+5= 13 [¢/3+6=9
319+7= 12 [9/9+4= 13
115+5=10 [02+6= 8
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